Relation between
energy deposit &
incident photon energy



MC
After all cuts

Sampling Fractlon (SF) + DetectorVeto

* SF = Energy deposit / Incident energy

L1600 EDEPGAMMAEI
G — Entries 24959
- B Mean x 18.42
Ratiol E —
- Evies 24989| 500 g',f’n%“xy ??’gg
- Mean  0.2846 © ~ ’
600~ s o] O F RMSy 38.86
- 400—
500 = %
- 300 —{20
400 N
- N 15
300 -
N | 10
20F
: 0 T -' . |1|'-l'|.|-.||l.|-||-||.|||||-|||||||.||||||||||||| 0
100F- 0 5 10 15 20 25 30 35 40 45 50
Deposited ener
0]llllll||||||I|||I|Il]]]|ll Mllan\..lnlllllllllll p gy

0 ot 02 03 04 05 06 07 08 09 1



SF vs HitZ
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At r.GenEndPos < 1060,

* Checking one gamma which goes to barrel
— GendPos_r > 1000

* Some events survive after applying all cuts
even if there is no gamma going to barrel

— Inefficiency of gamma match
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After rejecting HitZ>6300,
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Change in vertex time difference?
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In data, (Run62)
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G dMmMmMma ene rgy Inner Main Barrel Hit only

Blue : data (Run64)

Red : MC :
Normalized with P.O.T. energy depOSIt
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Sampling Fraction
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